Tic-Tac-Toe

 Solving Equations 1
	x + 4 = 11
	-10 – 5x = 35
	4x + 7 = 39

	10 + x = 6
	-8 = x – 3
	-2x – 5 = -21

	7x – 9 = 47
	2 + 3x = 29
	2 + x = -8


.
Tic-Tac-Toe

 Solving Equations 2
	-6x + 8 – 3x = 53
	-39 = 6x + x + 10
	6x + 6 + 7x = 45

	X + 7 = -23 – 2x
	7x – 9 = 47
	-3x + 7 – 7x = 117

	-7x – 8 = -80 + 5x
	3(-4 + 6x) = 6
	2(½x + 6) = 3 


Tic-Tac-Toe

 Solving Equations 3
	x + 1 = 6x + 1
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	-5x – 6 + 6 = -2
	-7(4 + 7x) = -567

	7(7 – 3x) = 259
	-2( 3 + 3x) = 0
	6x + 7 = -113 – 4x
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